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QUESTION 1

If an activity is executed three times in parallel, how many executions exist? (Choose two)
A. any number

B. none

C. two

D. one

E. three

Correct Answer: DE

QUESTION 2

What determines which value an object flow edge chooses to move from the source? (Choose two)
A. upper bound

B. weight

C. transformation

D. effect

E. ordering

F. selection

Correct Answer: DF
QUESTION 3
What is NOT a standard stereotype of an OCL constraint?

A.

B.

Correct Answer: B
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QUESTION 4

Which stereotype is NOT expected to see decorating an Execution Environment instance?
A.

B.

C.

D.

E.

Correct Answer: A

QUESTION 5

In the exhibit, what is NOT true of ReclassifyObjectAction?

ReclassifyObjectAction

isRcoplaceAll : Boolean = false

+object , i +object
{subsets input} | 1 +oldClessifier | *  * | +newClassifier 4 v, {subsets output;
InputPin Classifier QutputPin
(from BasicActivities) (from Kernel) (from BasicActivities)

A. It has an output pin providing exactly one object.

B. It refers to any number of old classifiers.

C. It refers to any number of new classifiers.

D. It has an input pin taking exactly one object.

E. The default value for replacing all old classifiers is false.

Correct Answer: A

QUESTION 6

What is a protocol state machine used to define?
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A. the state machine that corresponds to an interaction specification

B. the valid operations for invoking the behavioral features of a classifier
C. an interaction between two state machines

D. the state machine of a protocol object

Correct Answer: B

QUESTION 7

The exhibit depicts the UML superstructure packages for structural models. What is the correct identity for packages
Foo and Bar?

1
Classes

;i

—

Foo

Deployments

A. Foo = Collaborations; Bar = Components

B. Foo = Components; Bar = CompositeStructures
C. Foo = StructuredClasses; Bar = Components
D. Foo = Components; Bar = Artifacts

E. Foo = CompositeStructures; Bar = Components

Correct Answer: C

QUESTION 8

What does the deployment exhibit describe? (Choose three) A. a relationship between one AppServer and many
DBServers
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AppServer DBServer

B. two nodes

C. aternary association of nodes

D. a relationship between one AppServer and one DBServer
E. a communication path

F. two classifiers linked by an association

Correct Answer: BEF

QUESTION 9

What happens to the exception from a Raise Exception Action when used in a model that has no exception parameters
declared?

A. ignored

B. appended to an exception log

C. sent to the "ExceptionManager" object

D. handled by a default handler

E. propagated to an enclosing protected node, if any

Correct Answer: E

QUESTION 10

How can UML be extended? (Choose two)

A. using Interface Definition Library (IDL)

B. using the Object Constraint Language (OCL)

C. using XML Metadata Interchange (XMI)

D. using profiles

E. reusing part of the UML infrastructure library and augmenting it with metaclasses and relationships

Correct Answer: DE
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QUESTION 11
CORRECT TEXT

Which symbol depicts an AcceptEventAction?

A A

B.B

C.C

D.D

Correct Answer: A

QUESTION 12

In the exhibit, at which levels are the DeploymentSpecifications?
«deployment spec» «deployment spec»

DeployA DeployB

execution; execKind execution; thread
fransaction : Boolean transaction : true

A. DeployA = spec level, DeployB = instance level

B. DeployA = spec level, DeployB = spec level

C. DeployA = instance level, DeployB = spec level

D. DeployA = instance level, DeployB = instance level

Correct Answer: A

QUESTION 13
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What boundary do lightning bolt arrows cross to have an effect?
A. activity

B. exception region

C. expansion region

D. interruptible region

E. structured node

Correct Answer: D

QUESTION 14

The OCL dot operator may NOT traverse which classifier property?
A. operations

B. association ends

C. queries

D. attributes

Correct Answer: A

QUESTION 15

By what means can a design document be associated with the component it describes? (Choose three)
A. ownership

B. inheritance

C. import

D. association end subsets

E. power types

F. dependency

Correct Answer: ACF
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